Section 5.1 (”Day 1) — Practice with Identities!

Recall: the first few identities we learned:
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SINX=—— COSX=——— tanx=
CSCX secx cotx .
sinx COSX
tanx= CotX=—
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CSCX=—— Secx= cotx=

sSinx COSX tanx
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sin’x+cos’x=1 l+tan’x=sec’x I+cot’x=csc’x J
.

First, we are going to use them in a. way that should feel familiar - use one trig function to find all
six!

Example: Let secx= %3 and tanx= AE} to find the values of all six trig functions:
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Now we are going to use them to simplify expressions:

a) sinx+cotxcosx
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Sectlon 5.1 (Day 1) - Practlce w:th Ident!ties!
$1n G (§7h ém\ + (05 & (H' C’OS@’\)

) sin® _’_'cdé'ﬁ; _ B A S
1+cos®  sind - ( [w(:ub \) infh af_;} ‘E
E. £ &y
- € & + Cos & 4= Lh%
(H“"ams@ >i5m @ >
wgé:ﬁ“‘“"-‘"”'"' e g Mh‘ ;;Mﬂ,._,,_... [ A - -
- o E:q z = O5 0 @"\
¢ gw”@*%}“@ ) {%i 3'3@“> o
We can also use them to change rather than simplify:
¢) Rewrite so it is NOT in fractional form
[+sinx
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Section 5.1 (Day 1) - Practice with Identities!
Factoring

_ ) : : :
ya) sec*¥—1 b) sinxcos’x—sinx
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Homework: p. 379 #1, 5, 6,10, 15-18, 27-32
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